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,  

l  : , -, 
.. :    

     .

  

        ( )
       .

l  : 63
l :  /   
l  :   ,   , 

  
l  :    /

 ,    
l  :   
l   :  19
l  : https://www.isro.gov.in

  ...

         
         
(  )      

  .

l  : 7
l :  ,   ,

 ,   , 
     

l  :   
l   :  31
l  : https://niftemnt.samarth.edu.in

 ..

         
        .

l  : 3
l :     (   )
l  :   
l   :  12
l  :  https://cochinshipyard.in

   ...

1.       
    ?
1. 2005,  25
2. 2005,  25
3. 2005,  25
4. 2005,  20

2.       
    ?
1. 6 2. 8        3. 7        4. 9

3.      
    ?
1.   
2.       
3.  
4.     

4.      
    ?
1. -     
2.   
3.   
4.    

5. 14     
       
   ,  
      ?
1. 75:25 2. 80:20
3. 90:10 4. 50:50

6.      
       ?
1.    
2.   
3.   
4.   

7.     -2005
     
      ?
1. 41 2. 42
3. 43 4. 44

8.      
      
  ?
1. 2007 2. 2009
3. 2008 4. 2006

9.       
     ?
1. 2007,   12

2. 2007,   25
3. 2006,  13
4. 2007,   23

10.       
   ?
1.  2.  
3.   4. 

1.         
 ?
1. 1985 2. 1987
3. 1989 4. 1990

2.     ‘    
    ’    ?
1.   
2.   
3.    
4.   

3.      
   ?
1.    2.   
3.     
4.   

4.    
‘Only One Earth’ ?
1. IPCC 2. UNFCCC
3. UNEP 4.WMO

5.       
   ?
1. Our Future
2. Our Common Future
3. Our Earth 4. Our Nature

6.       
       
 ?
1. 1987 2. 1992
3. 1990 4. 1997

7.        
    ?
1.  2. 
3.   4.  

8.     CBD    
  ?
1. 2010 2. 2012
3. 2014 4. 2008

9. COP-26      
  ?

1.       
2. 2030     
  45    
3.      
4. 2030     
        

10.      
 ?
1.    - 
 
2. COP-26  - 
3.     -  
4.      -
   

11.      ?
1.     
: ‘    ’
2.     : ‘
         &
 ’
3.     : ‘
     ’
4. 2021     
- ‘‘    ’’

12. 2021      
   ?
1.  2. 
3.  4.  

1.        
   ?
1.   2.   
3.  4.  

2.     ,   
   ?
1.   2.    
3.    
4.     

3.       
    ?
1.   

2.   
3.  
4.  

4.       
  ?
1.  
2.   
3.   
4.  

5.      ?
1.  
2.    
3.    4. 

6.        
    ?
1.   2. 
3.  4.   

7.       
  ?
1.     
2.   
3.   4.   

8.       
     ?
1. 60  2. 70 
3. 80  4. 90 

9.        
    ?
1.     2.  
3.    4.   

10.           
     ?
1.   
2.   
3.       
4.     

11.         
       
?
1.  2.  
3.   4. 

12.       
     ?
1.    2.   
3.   4.  

13.        
  ?
1.    2.  
3.    4. 

14.         
  ?
1.    2.  
3.    4. 

15.        ,
       
      ?
1.   
2.    
3.  
4.     

1.    
      ?
1.    
2.    
3.   
4.   

2.         
   ?
1.   2. 
3.   4. 

4.      
 ?
1.   
2.     
3.   4.  

5.       
  ?
1.   

2.    
3.   
4.  

6.         
    ?
1.    2.   
3.    4. 

7.        
     ?
1.   2.    
3.    
4.   

8.        
   ?
1.  2.  
3.  4.  

9.    -    

- - -    
       
  ?
1.    2.   
3.    4.   

10. -  -   / 
        

 ?
1.    
2.    
3.   
4.    

11.      
  ?
1.   
2.   
3.   
4.     

12.      ?
1.  2.  
3.  4. 

13.       
 ?
1.    2. 
3.   4.  

14.      
        ?
1. 50  2. 30 
3. 80  4. 10 

   
-,        ?

1.4 2.4 3.4 4.4
5.3 6.3 7.4 8.3
9.4 10.3



1.1 2.1 3.2 4.3
5.2 6.1 7.4 8.2
9.4 10.4 11.3 12.3



1.2 2.1 3.4 4.3
5.4 6.2 7.3 8.4
9.2 10.3 11.1 12.2
13.1 14.4 15.4



3.    .
1.   .    
2.   .    
3.   .     
4.   .   

1. 1-, 2-, 3-, 4-
2. 1-, 2-, 3-, 4-
3. 1-, 2-, 3-, 4-
4. 1-, 2-, 3-, 4-

 , 

  
1.3 2.2 3.4 4.1
5.3 6.3 7.4 8.2
9.4 10.3 11.4 12.2
13.1 14.4

8    
8   -   
8      

 
8       

      
8     
8   - 0.m/sec 
8     

    
8    -     
      
       

8       -  
8    -  , 

   
8        

  .
8    ,      

   
8   ,     ,

     
      -   

8      -  
8          

   - 
8       
  -   

8  2    
8         
8         

,       
 . 

8         - 20 mm
8  - 15 mm
 
8  -    -   - M -

  , I- , S-  
8   - - 
8    ,     

1/20  
8       30-50  
(30-60)

8     ,    
      ,
   

8      - 
8    -  
8       - 

 ,  
8   - 
1.   ,        

 ?
.        .  . 
.   - 

 
8 20 Hz- 20000 Hz
8 20 Hz - 20 KHz
8 0.02 KHz - 20 KHz
8 20 Hz      

  -   
8  ,    ,   
        
    

8   ,      
           

8   -      

      
8  - 10,000Hz  12,000Hz
       

8    - 30,000Hz  
      

8 20,000Hz      
   

8  50 Hz,    1,00,000
Hz,   1,00,000Hz   
      

      
8            

 ,       
8        
  

8 ,       
8          ,
        

8         ,   
       

8         .
       

8            .
         

 - 
8      

1.   2.   
8       

  
8      - 
8 - , ,   ,  
8 -  , ,  
8 -  ,   , 
   

   
1.    -     
    

2.   -       
   

3.    -   
    (     , 
      )

8          .
1990 32      
          .
     6000  
     

4.     -    
  .       . 

       .  
      . 
      

5.        -  
  . , , ,
    10   
   .

6.    -    
   .     
    . 

SONAR 
8 Sound Navigation and Ranging
8      - 
8          . 
(  )

8          
 

8  ,     
  ,     
   

8            -
d=vt/2 (through sonar)

8 SONAR     
 : 
8            
         
  6    ,  
 ? (     
= 1500 /)

 : d=1500*6/2 = 4500 m
8     ,     
          3
     ,   ?
(    
  =1500 /)

 : d= 1500*3/2 = 2250 m
  
1.  (  )
8             


8    -    /    

     
8      ‘’ 
  - 256 Hz,  ‘’ 
  512 Hz

2.  
8      
8            



8      - 
  ()   10 

8       - 0 , 10  -
10 , 100   - 20 , 
1000   - 30 

8     - 15 
8        - 50 
8 (lawn)  - 90 
8   - 120 
8 ,   - 140 
8     - 110 
   
8  <   
<   <    <  

8 ,     , 
    .

 
8    ,      2

        
     

 
8    - 330 /
8       

      
       

8        - 
    

8        - 
  

8           
         

   
8         

        
    .

8       - 
  

8       
           
  - 16.5 

8       - 
0.1 . 

8  ,   
    0.1 .     
      . 

8     , 
      

8    
  

       
8   ,       
8     
8     
8     ,    

    
8     ,  
    

8      ,     
,     
     .

  
1.   2.   
3.    4.  

 
8        

 -   
8    - Hz (or) 

  /, Sec^-1
 
8  1857,   22   
  .

8        
     

8  , ,   
     

8        
8     ,    
   

8 1711        
         

8   = 1/t
8     (t) - 
      

 
8        

       
           
 () .

8   - cm, m
   (Amplitude)
8        

   
8  - cm, m
 
8     
      
  

8   (v) = fλ
f=  
λ=   

  ..  



-,  

, 
    

  


